AR N2 S Y
g3 EX=A
©@Rl: ENRxgs 2 (91 =)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
ENEEON N} 40,378,019 29,988,567 10,389,452
= 2,342,000
[ 20,712,000
= 17,324,019
EX=A 21,253,139 14,063,200 7,189,939
= 15,682,000
= 5,571,139
ENRXNES 23t 104,774 214,064 A109,290
JIgsXl OHIE &K 99,710 202,500 A102,790
201 &Et2E | 88,910 30,500 58,410
01 At22teld| 30,500 30,500 0
OJIg=A 82 22,000
oOsUlRRIIE HEH =X 8,500
03 A2 S| 58,410 0 58,410
OJ1HFX £Ha| HAl 58,410
202 Ol 10,800 12,000 1,200
01 2O 10,800 12,000 1,200
OJIg=A 82 10,800
JBENI LS MAN =8 &3 5,064 7,564 22,500
201 &Et2E | 4,064 6,564 2,500
01 AtR2teld] 4,064 6,564 A2,500
O0|&I IS MEFFAH 3,564
OFTFX M2 29 500
301 LetEES 1,000 1,000
B2 d=s 1,000 1,000
SA=A 22 =g 1,000
S HEX 21,148,365 13,849,136 7,299,229
[ 15,682,000
[ 5,466,365
NSEN=TEXZ X (=2) 18,743,625 13,849,136 4,894,489
[ 15,682,000
= 3,061,625
403 MXIEHMSAH=201H 18,743,625 13,849,136 4,894,489
= 15,682,000
= 3,061,625
01 AXISHHA=2EXE 18,743,625 13,849,136 4,894,489
OXNZENENEXS XS 18,743,625
[ 15,682,000
= 3,061,625
SNE X3 X2 2,404,740 2,404,740
201 B2 & 2,240 2,240
01 AtR2teld] 2,240 2,240
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oA

5,759,000

arei= 24
SN
S HEXA
2 24 - 29(8) - NRAE 0f e i
OYATIIERXAZS =29 2,240
403 X EMSEXH=01H 2,402,500
01 AXISHHA2E X 2,402,500
FY x5 XN 2,402,500
=22 ANUE dkots 7L &8 66,202 604,300
ols &&X x4 66,202 604,300
olsx 2&X =d € &4 =X 16,202 24,300
201 B2 13,202 18,860
01 At2tcIH] 13,202 18,8060
OHELNE -8 & LE2E 13,202
202 O 3,000 5,440
01 =LA 3,000 5,440
Oots 2&X xd HRFA 3,000
EMU W AESAH AR 8 50,000
207 A1IHE 50,000
01 ¢S4 50,000
OFEMUW AESAH AA=EIL 50,000
NRXE St Mgy 55 & 49,370 49,370 0
SEE ANRI =& 49,370 49,370 0
D2HE 25 F4 49,370 49,370 0
201 Zet=Eh] 32,000 32,000 0
01 AtR2t2|H] 12,000 12,000 0
OZ=zZHE Y % 2 12,000
03 A= EHI 20,000 20,000
02=0 EX=I 2483 20,000
202 04l 2,000 2,000
01 2LHoIH 2,000 2,000
OZZME YR 2,000
308 AXIHHSOIA 12,650 12,650
11 S| 2S0UHe B oA AE A 12,650 12,650
OF =Xl HAOIE 2| 2€= 12,650
310 =2/01& 2,720 2,720
2 =H=Fe=2 2,720 2,720
O2=QIEX 2t &3l By Hald| 2,720
MHAE &S 12,861,000 11,303,900
= 2,072,000
[ 5,030,000
= 5,759,000
SHAEHX] e 2t 12,861,000 11,303,900
2,072,000
5,030,000




A= g SN ENRID
Hm: NYPE DT3
2l AFRHER Zd2te] (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
A X XI& 516,800 1,012,100 A495,300
201 Ler23AH| 11,200 6,500 4,700
01 AtR2teltl 11,200 6,500 4,700
OM XA Ao As 2 11,200
202 04| 5,600 5,600
01 =WHO4HI 5,600 5,600
QAL HX X2 LRFX 5,600
308 AXISHMSOI& 500,000 1,000,000 A500,000
01 AXIEHBAEES 500,000 1,000,000 A500,000
O=sEHA A0 274l XA 500,000
sEXNE SENMASKA(HEAIY) 475,000 1,322,000 A847,000
403 XX HMSAH=01 S 475,000 1,322,000 A847,000
01 XtXIEHHI A= 2 = 475,000 1,322,000 A847,000
0ZE F=2XN=SHX|(XEH) 100,000
o4 DE=SHXI(HE) 225,000
OY9E M3s3HXI(XHE 150,000
EHSFIHAMC THMAIE(=21) 872,000 1,000,000 A 128,000
= 872,000
403 XX HMS K201 872,000 1,000,000 128,000
= 872,000
01 XtXIEHHI A= 2 2= 872,000 1,000,000 A128,000
OFHS LA THHALY 872,000
= 872,000
SOSTAS ZAMAAZAISE (2 1D) 1,200,000 1,050,000 150,000
= 1,200,000
403 XX HMSAH=01 A 1,200,000 1,050,000 150,000
= 1,200,000
01 XtXIEHHI A= 2 = 1,200,000 1,050,000 150,000
Oszoi=2d A ML} 1,200,000
= 1,200,000
E& ICTHIMMEY A-(212) 4,613,200 6,919,800 A2,306,600
s 3,780,000
< 833,200
403 XX SHHMS K201 4,613,200 6,919,800 A2,306,600
s 3,780,000
< 833,200
01 AXIHAMA2EE 4,613,200 6,919,800 2,306,600
=& ICTHIMHEH HE 4,613,200
s 3,780,000
== 833,200
4S8 SSUUE XAAAHEH A48(21) 1,950,000 0 1,950,000
s 1,250,000
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JE SN EXNSXD
MERE D&
MHEX Zdztel (EEREED
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
= 700,000
403 XX HMSKH=01A 1,950,000 0 1,950,000
s 1,250,000
o= 700,000
01 XISHHMAIZ2E X 1,950,000 0 1,950,000
OZ8 32U KIAMSHE HE 1,950,000
s 1,250,000
& 700,000
220 HHA AT ZEMD(2IHEEXH) 2,700,000 0 2,700,000
402 QIZ2ERHE0| ™ 2,700,000 0 2,700,000
01 QA= ANE B 2 (KHHIXHE ) 2,700,000 0 2,700,000
OZJ BIHA SHAOIE ZAALY 2,700,000
=& =3 WK NSAIS(2IHEEEXH) 248,000 0 248,000
403 XIS MSAH=01 A 248,000 0 248,000
01 AXIHANA2EE 248,000 0 248,000
OFd =3HX WIIX XA 248,000
Soll SHALCX SEINEAMS (2 XA) 286,000 0 286,000
403 XX HMSAH=01 A 286,000 0 286,000
01 RXISHA=ZE X 286,000 0 286,000
Sofl SEALSI] SEIMEALY 286,000
Et2 Z2HE DJIAIS 1,123,413 2,765,424 21,642,011
= 270,000
= 853,413
OIHKIEE HEZAl 24 1,000 2,000 A1,000
JIGEAl HE 1,000 2,000 A1,000
202 o4 1,000 1,000 0
01 =WO4HI 1,000 1,000 0
QJIILE Al HE gRFA 1,000
SAEA 28 L 2H ARFA 1,122,413 2,763,424 A1,641,011
= 270,000
= 852,413
SAMEAl 28 Y 2ETA 218,852 285,849 A66,997
201 Ler23Ad| 2,200 2,200 0
01 At22telt| 2,200 2,200 0
OSAEAl 43t K& 2,200
202 odd| 3,000 3,000
01 =LHAb] 3,000 3,000
O Al 2435 K& 3,000
306 =3 192,652 231,649 A38,997
01 843 192,652 231,649 A38,997
OZJATEHAUTALYEXRHEEH 2 192,652
307 QI2H01 M 21,000 49,000 28,000
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A= M= 2M 1 SIS
M B2 Z2HE JtAIEt
SRl SUTA &2 & 20 gRFN (S M)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
= 30,000
= 30,000
SUEA BR2A0A 24 XA(=1) 120,000 1,600,000 1,480,000
= 60,000
= 60,000
301 Et2 N s 120,000 0 120,000
= 60,000
[ 60,000
142 = 120,000 0 120,000
OAZAl ER20IA SXHl XA 120,000
= 60,000
= 60,000
HY2AGH(EHFII D) 46,295 55,562 N9, 267
=34l 46,29 55,562 N9,267
FNEE JI=3HI 46,29 55,562 N9,267
201 &Er2E | 33,492 36,554 A3,062
01 AtR2teld] 33,492 36,554 A3,062
SN2 AIR2el] 33,492
202 04l 8,003 8,208 A205
01 =LHObI 8,003 8,208 A205
OF A2 20 8,008
203 SR =8| 4,800 10,800 26,000
M4 EA2ELR=AH 4,800 4,200 600
©30¢e! Olat 400,000~ 122 4,800
WS (SN 4,978,600 1,084,811 3,893,789
LIS HHKIZE 4,978,600 1,084,811 3,893,789
FFIIEA MYEZ2 JHE 4,758,600 818,400 3,940,200
705 Ol=sEci=ae 4,758,600 818,400 3,940,200
03 Al - EXISHE IS0 2 e 4,620,000 660,000 3,960,000
ORFIILZAl HLEZ HE(3) 4,620,000
04 Al - EXISHE I | S0=== 0l Attt 138,600 168,400 /19,800
ORFIILEA HLE2 HE(0IX) 138,600
ZEIMEAAHELE 2A FS 220,000 266,411 46,411
705 == 2clisatet 220,000 266,411 46,411
04 Al - =X D IS U= 0| AHatet 220,000 266,411 A46,411
OLHAZNEAAUBHE X FHS 220,000
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